Parallel Linear Gripper Clean Type
H P04 | Standard Type |
Series
Perfect for elean roams >, L%

cxcetent OENTERING pccurecy

€+£0.07mm or less

Piping Port on 2 faces

Positioning Hole

@Excluding 8mm
@®Rear Face
. @Bottom Face
Fluorine Grease

@®Internal cylinder - _m

> T
= <4y =

= oS g 8
B
2
()]
o]
3

Fluorine Grease

®Bearing Part

Sensor Switch Groove

Use of

LINEAR GUIDE

@ \Withstand load, withstand moment
(high rigidity)

&High accuracy
(repeat accuracy: £0.01 mm or less)

@ Gripping at a long point and overhang
gripping are available.

o)
@
=
i,
o
[
3
@
@
=
@
=
O
o
@®
=
)
o
@D
3
=
<
ko]
@®
(9]
P
@
3
Q
@
=
a
=
<
o
L

61



Parallel Linear Gripper Clean Type

ype)

HP 4N Series

M Model Code No.

Series Name

Bore Size

8: 8mm
10:10mm
16:16mm
20:20mm

Action Type
C : Double Acting

Number of
Switches

1:1 Switch
2:2 Switches

Switch Lead Wire
Length
Alm
B:3m

@Gripper Adaptor Type
No Code: No Gripper Adaptor

HAE (excluding 32 and ¢50)

HFE (excluding ¢8, 32 and ¢50)
HFE-L : Large Diameter Type
(#16 only)

4

’, Y

@Switch Type No Code: No Switch

[ ze135 [ ES13 |

ZE235 | ESe3 |

‘ 2 Wire System Solid State Switch, Straight Type ‘

‘ 2 Wire System Solid State Switch, L-shaped ‘

[ zE155 [ES(®15 |

ZE255 | ES(P)25 |

3 Wire System Solid State Switch, Straight Type ‘

‘ 3 Wire System Solid State Switch, L-shaped ‘

=

(@rs.=

I

seas N7OdH

@Detailed specifications—P.66

M Internal Structure Diagram

D=
|

(adA ] plepuelg) adA] ues|] Jaddug Jeaul |9|eled

62

bh

ldddd

[ [P Y Y Y Y ) Y |z
Jdjo|o|s|o|n|=|o|@@|N[e| g swini—F

@Switch details—P.521~528

Parts List
Name Material
Main Body Aluminum Alloy
Head Cover Aluminum Alloy
Piston Rod Stainless Steel
Piston Aluminum Alloy
Magnet Resin

Pressure Cover

Aluminum Alloy

Linear Bearing

Bearing Steel

Action Lever

Carbon Steel

Knuckle

Stainless Steel

Fulcrum Pin

Carbon Tool Steel

Hexagon Socket Head Bolt

Stainless Steel

Press Fit Pin Carbon Tool Steel
Press Fit Pin Carbon Tool Steel
Hole Locating Snap Ring | Carbon Tool Steel
O Ring NBR
Rod Packing NBR
Piston Packing NBR




New-Era.

M Specifications
Fluid Air
Maximum Operating Pressure [MPa] 0.7
Proof Pressure [MPa] 1.05
Operating Temperature [C] 0~60 (No Freezing)
Lubrication Not Required (Required for sliding parts of the machine) Only ¢8 required
Pipe Bore M3x0.5 (HPO4N-8, HPO4N-10)

M5x0.8 (HPO4N-16, HPO4N-20)
Maximum Operating Cycle  [Cycle/min] | 120

Centering Accuracy [mm] +0.07
Repeat Accuracy [mm] +0.01
Applicable Switch ZE, ES Type (Solid State Switch)
) Minimum | Opening/ |Gripping Force ida Di ;
Action Model Bore Size |Operating| Closing [N] Out?que I:\),{Imenslons P,[,?g:gt
Type s [mm] | Pressure | Stroke X
[MPa] [mm] |Close|Open [mm] [e]
HPO4N-8C 8 0.22 4 58 | 99 13%20x30 22
HPO4N-10C 10 0.2 6.5 10 |156 20x36%49 80
Double I
Acting 8
HPO4N-16C 16 0.12 10 26 | 39 25x50x56 169 S
2
HPO4N-20C 20 0.1 14 45 | 60 32X62X67 329 %
=
7]

Note) The grip force is measured at the intermediate position of the opening/closing stroke. It is an effective value
when the grip point L is 30 mm and the pressure is 0.5 MPa.
The opening force of the single acting type indicates the spring force.

When this product is used with an extremely short stroke, it may work badly because of the lack of oil of the guide. E
o
o
M Allowable Load and Allowable Moment C
Fx g
§ ¢
. /] Ma =
L 2= N :
== o
[ | [ | Ms SITJ
o o o o = <= =
o@o o@o 2
o 0 o 0 B
Mc @
© © @
© 9 3
a
)
a
—
=
i R Ma MB Mc g
Model [N] [N-m] [N-m] [N-m]
HPO4N-8 12 0.04 0.04 0.08
HPO4N-10 50 04 0.4 0.8
HPO4N-16 120 1 1 2
HPO4N-20 200 1.5 1.5 3

63



| & ”% i = | 8 ”m ”m i o g
[t -7 ,\\M\J\ -7 I m
= g | E =B g E
| y 1 | O | |
Cr‘OlTnW\l u ) DR S = u
o[ | 5 [ I T 5
— Ly Lol U A | (@)
L | T L | T i 3
= g i g
| | | Q | | | | Q
ol I 2 orf il 8
. © S R ©
o o o o ® o © o
< ® aQ © < ® -
[N] @204 Suiddug [N] @2104 Suiddug
R R S S F — L S F
A o E A o £
L= = [P A ToN RN =
& & 3 . , 2 °° -
Sy 8 £ SRTY N ] 8 £
— g — e i g
b | w b | ” ” w
Sl 8 § 3 IR A S B L
(0} Q =
sy O/ Y A = o O, __ Lo [ =
> ” ” © c s ” ” ©
M s v o W e o
i) - - 5] « -
(Ol C £
O = [N] @2.104 8uiddug ..m [N] ®@2.104 Suiddug
) ol < <
2 ol O e — Q Q2 e —— Q
= nru o | Lo ool ] = ” | i | o k= L4 &) | = ” Lo 1 @
- cC = TToa]a | = e it ety ety Lol = 3 i (Y RN I = e It R
2 n — o [ -1 B o & g ! @ ol Ll = (@) g o o o & I [ I
o o} HRSER] R B kY - BEIY RS O T T =T at:! B
s | ZHEEL- R T o523 lez M St -] T oils 7
c P -- --of----1 c c S r-No---fk--q4-F---1
a SH el tdes ol 1Ps B et 82 Qe [
S| g 9/ i PRRBAEES Eebtk SRt (EEE BES = ECN 0 FRR A Sabt S ELEEEE
© o & z/ T g z i i i o & _.m - N A F g z i i i
@ > I < oo ca <11 p g [ S SRR P S oca <t
[t " — O] | | | - a o | | | a o' I | | - Q o | | |
= = N g I T L A< 00 =R N T 2
= P 0 M o | T i 0] W i i I (0] - O | T i (0] W i i I
@ o B I ] i ; W W W i 'c ; i ; W i W W
© ““ (0] o 0 o o o o o o m o (e} o o 1o} o [Te] o
m H E IO — [o9] © < Y] o — (0] ~N Te} Y]
(== . o [N] @2.104 Suiddug [N] @2i04 Suiddug (@] [N] ®@2.104 Suiddug [N] @0.404 Suiddug

HPOA4N series Parallel Linear Gripper Clean Type (Standard Type)

Gripping Point L [mm]

64



New—Era.

M Gripping Point Limit Range

HPO4N-10
‘e ‘e
£ £
T T
w w
= =}
[v] @
Ny ey
5] ©
> >
(@] (@]
Gripping Point L [mm] Gripping Point L [mm]
HPO4N-16 HPO4N-20
T T 5
E £ S
T T D
2 ® <
£ £ &
2 2 =
] ] &
Gripping Point L [mm] Gripping Point L [mm]

@Mounting of the attachment

L (distance gripping point) and H (overhang distance)
of the attachment to be mounted to the lever shall be
within the range specified in the above drawing
(Gripping point limit range). If they exceed the limit  Workpiece

range, excess moment will be applied to the guide, Gripping Point L
causing troubles that have a bad influence on the life
and accuracy (e.g. finger backlash). Even if they are

o)
@
=
o
o
[
3
@
@
=
@
=
O
o
@
=
Q
o
@
3
—
<
o
@®
(9]
pd
@
3
Q
(]
=
a
—
<
o
e

65

within the limit range, the attachment shall be as small IL ‘ 3 o
and light as possible. —-— S ———lgf
@Guide for selecting a model for the workpiece weight & <

It shall be 5 to 10% of the effective gripping force or
any value less than that although it differs depending
on the coefficient of friction between the attachment
and the workpiece and the shape. It shall be greater
than that when great acceleration or impact is applied
during workpiece transportation.



saues Nt?OdH

(adA | piepuels) adA ) ues|) Jaddug Jeaul |9||eled

66

Parallel Linear

Clean Type

HP04N Series

M Outline Dimensional Drawing of Gripper Adaptor

| HAE Type
2—¢L
o | g
~he {EPE -
< =
| Jan i
=
| i
D C |
B A H
Code Ancillary Bolt | Product Massl[g]
Type A|B|C|D|E]|F Hi 1| J | K|L (x2) (Including Bolts)
HAE-8 10/ 10| 3 |08]| 8 10 9 |20 | 15| 9 13 | 2.8 | M2.5X0.45%x6L 6
HAE-10 1515 3 |1.3|10[ 11|11 23|17 |10| 16 |34| M3X0.5x8- 11
HAE-16 15115 3 | 1.8 10| 16|17 |34 |26 |14 |22 |45| M4x0.7x10tL 20
HAE-20 15(15| 3 |1.3|10| 18|21 |45 |35| 16| 26|55 | M5xX0.8X10b 28
| HFE Type
oE 2-olL
| <
o) ‘ \ I
9 — — ] | ¥
° =T T
T
1.3 A
H
Code Ancillary Bolt (x3) Product Mass|g]
Type A E € n I J K L Gripper Mounting (x2)| Adapter Fixing (x1) | (Including Bolts)
HFE-10 15 6 11123117 (10]| 16 | 34 M3%0.5x16L M3X0.56x12L 14
HFE-16 18 8 17134 | 26| 14 | 22 | 45 M4x0.7x20L M4x0.7x16L 35
HFE-16L | 18 | 10| 17 | 34 | 26 | 14 | 22 | 45 M4x0.7x20k M4x0.7x16L 33
HFE-20 191 13|21 | 45| 35|16 |26 |55 M5x0.8x20L M5x0.8x20k 55




New-Era.

B Dimensions [gleZI\g:(e
15
M3X0 .5 e =
. = | M3X0 .5
(Closing Port) 4.5 = e :
(Opening Port)

a0

| | ~
_ /11X
W

—000 :) O @ 9'3 o

LIRS 2-M2.5X0.45 Depth |
(Suction Port) \ Depth 4 | (Positioning Hole)

When opened: 9.0°
When closed : 5.4 -

\
T & e
v PR
A i ] - - | | 4 f i
7\ 4E7
e o) o
ol & = '
-5l 185
o< (1.5) g %
-8 < (@]
SI‘ g 1.5 B 30 _ ] 3008 D
= S i = <
@
2-M3X0.5 g.
| a ——1” Depth 3 @
au IS @’\I _ | | (8) -
@ Lo o N
" 3 ) 2.5 %
g 5 - : 3
S i )
o 17 | 8 | 2-Mexo0.4 ‘ 2
Denth 8.5 N 3
~ © O o ¢
1l 3
O E
R2E O 2
. = , )
3 - 0 View on Arrow A g
~ - ! 3
5 I 2
a+ ! d
1l {}}: v o
] 8
2-01 58 2-93.2
Depth 1 f= S0 Through-Hole
(Positioning Hole) 10

67



Parallel Linear Gripper Clean Type (

HP04N Series

B Dimensions [gla{ef\\M{e]s;

CAD data provided

saues Nt?OdH

17
Plug* 1 75
AN
O ]
. — I —1 o
pu— - ‘
2-M3X0. 5 35 5oM3X0 5
(Closing Port) 17 — g11g08
75 Depth 4.5 v
M3X0. 5 Depth4.5 - ITe) Depth 1.5
— 955 - ﬁ (Positioning Hole)
(Suction Port) \ — 655
, )
i d 00 ©
A T E— 7 | | o| o
o © ] 7N 74\4’ I —l ool o
7009 € ﬁ}@ @ 0eé
o < .
0 o - F ¢ 2-M3X0. 5 @){}3
gé ";%0 (15) (Opening Port) 10 S-M3X0 .5
ol € =
ég Sé 14 2005 Depth 6
o © E=
51 Vg 2 49
==
L ©
D~ | ——— [qV]
g L — -
g . 5 2-M3X0.5
c 2 Depth 5 147
3 . 29 45 14.7
p —_\ a5
@ 5 14-9
% 2-M4XQ0 .7 Depth 6 /5
° /Lovver Hole ¢3.4 Through-Hole*? |
g8 NS |
S o
2 o I D N Qo100
3 o Al e . !
@ - S SANe O 2-M3X0.5 | '
o - ) i View on Arrow A
5] 3 2-¢2.5%° Depth 4
a o LLl Depth 2.5
S - (Positioning Hole)
3 16
54 EX 2-M3X0.5
= Depth 5

*1) Two faces have an air port. Select the one you use according to the mounting condition.
*2) Note that when the main body is mounted using the through-hole, you cannot mount the opening side sensor.

68



New-Era.

CAD data provided

B Dimensions [glaeZ\\SIs]e;

19
15 Plug*1
s _ -
O /1
o | | e
® ) -
ROE
[
2-M5X0. 8 19 2-M4AX0 .7 @170
(Closing Port) 8 ~ Depth 5 Depth 1.5
MEX0. 8 75 Q (Positioning Hole)
(Suction Port) N} | aR
e 4 e |
IR
- o
| Q |
33&. = © L&
VAl | oo T 2-M5X0. 8
55|52 | " nening Part
o £ = ening Por
§§§.§ |22 pening o 2-MAX0 .7 %
°2lal8 17 Depth 7 o
§§ Nl = 55005 D
== 3 56 2
(7))
o
g.
[o ©
o w
o [ dY e v .
Q (20) (20) 3
o 2-MAX0 .7 6 5 o]
s 8 — g
- )
P 16 Depth 6 .8 8 g
] 2-M4aX0. 7 @
- N z
_ Depth 5 I | g
1 _:l: 7%7Ql ! l@ N Q
I ® g
+h 5 @ | 5
2 = @ w 2
ol 9 _ 1 = . ko]
ol © Q¥ View on Arrow A @
| —= = S @
i 'E~ /g) Q. %
0.02 || ! SES &’
2-03"S - LF&E—Maxoﬁ Depth 6 3
Depthd | 14 Lower Hole ¢3.4 Through-Hole*2 8
(Positioning Hole) o1
2X2-M3X0.5
31 Depth 5

*1) Two faces have an air port. Select the one you use according to the mounting condition.
*2) Note that when the main body is mounted using the through-hole, you cannot mount the opening side sensor.

69



Parallel Linear Gripper Clean Type (

HP04N Series

B Dimensions [gla{efl\\¥=ls]s;

CAD data provided

saues Nt?OdH

21
) 7.5 Pplug*!
[ //
Aa® B S
® =
T 021 +0.05
]
2-M5X0.8 21 = Depth 1.5
— : ! Positioning Hole
M5y 0. g (Closing Port) 28 : 75 © . (Positioning )7
(Suction Port) \J | ° ! N Ty f@{)m
g ) Ee)
H {E} L
A ~ | nlw|s| o
T - — M| W0l ©
o = {J;} O«@
aol M| |o i 2-M5X0. 8 QI —
SoE | (Opening Por) 1O _0-©
Q| 2w
28|55 (3) | 45 2-MaX0. T '8 2 M5x0. 8
cc|sls - —————
22 g e3 Depth 7 g pre0s Depth 9
==lwie3 67
4 ©
™~ ‘E _ = ©
3 h © -
s [ Q
T AY
; 2 10 2*M75XO, 8
8 ?(.U 43 Depth 8 (211) (251)
Q - 2-M5X0 .8 8,8 8,8
i) = e —
8 Jl L Depth7
o © o
6 —
: T oolJoo]
= 2 n
é [an] - . o O
o < [qN] ™
B It =
) - View on Arrow A
. e
3 o oane AN TR o
2 - = 2-M5X0 .8 Depth8
o —
o Depth 3.5 Lower Hole ¢4.2 Through-Hole*2
(Positioning Hole) 273
2X2-MAX0o .7
=X Depth 6

*1) Two faces have an air port. Select the one you use according to the mounting condition.
*2) Note that when the main body is mounted using the through-hole, you cannot mount the opening side sensor.

70



